ROXEXFRDERLAICLTEHDDT
XP+-DEFTEFEOLITICEELLLD

(DX X5 =5X
@X+5 = %

BXXXXYX (-1) XX =XY
@X4+ (-1) XY =X-Y
®3 XX+ (-1) XY =3X-Y

©(XYV)+3 =X

KD EELELLS
M3XX (-7) =-21X
@3X-5-5X-1=-2X-6
33 (2X-4) =6X-12
@ (-25%-10) =+ (-5) =5X+2
®4a-7a =-3a
®(12a-2) = (-4) =-3a+ 17
@a-a =0

ROREXFZRDERLAICLIEHST
®LELLD

OanZEWTERIE =60a 7

OXkmDEDY H BRIk T y BRGSO TBED
BRYDEDY —x-4Y km
PEdNacm HEH bcmD=FEFDEE
=1/2 ab
@FEMalDm%30%5 | ETED B
=0.7a M
OS5 NDHEEDFIGHXkgTIADEED
YkgDEs 75 DANDFEDFT .,

@R EIXkMDEDY EFTE(EBEAkm * kd
) IR Skm CEE LT B LT hvh > T B RY
SoX B

ROBEXDSIERED 21TE2H D%
ECRUELSD

+2=8 @X-5=3
3-2X=4 » “3=X-1

TOTEELELELD
(M3(2a-6)-6(a-2) =-6
@(a+3)+(a-3) =2a
(3(2a-4)-(3a-4) =-a

@ 28 1y 16232

5X-3

® X20 =25X-15

® - X (12a- i)=-9a+2
4 3

3X-6 X+5 7X-7
—|— =
@ 2 4 4

ROBEFREFAPAFINCERLELLD

OB DEXDAMBITSEINZADE25C75S
4X+5=25
@3600MDBEDY E 5 KanD TH L ED D BB
a

@ETax—MNUOIEESEH LTE1 DO
REGA—IVLLETSHD o0
5 =
@12aMDHHL20MEE200DFEEES &
REW20008UFIEES 0 o000

®1#a7 = LD#E200M1E500g K JER
200a<500
O©BEHE 4 km TXEFRSS N =EEDBE DY 1E20km
LIFTCH3
ARC 4X <20

@100ADHH LXEL200MDI 1 —R & 14
DO TEERIZ 150D/ N\ HYEE > BB E
FLW 100X+200=150Y

ROFBERZEERLLD
OX+5=9 X=4
@-9X=63 X=-7
®-2X=10+3X X=-2
@5-4X=2X-1 X=1
®12X=20 X= 3
®3X+7=4 X=-1
@D5X+21=2X X=-7

ROABEREEEELLD
@®3(X+5=9 X=-2

X 1 X
- T — =|-—— X:2
@ 2 3 1 6

(3 0.25X+0.4=0.1X-0.05 X=-3

@ 0.15X-0.3=0.2%X-1 X=14

(B 5X-2(X+3)=2(X-4) X=2
® 2X-3 X+5

: =-2 X=3
6 4
G X6 _ X5
2 4 5




